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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot [ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

7.0

6.8 1

6.6 -

6.4 -

6.2

6.0 -

Warning: col

[’ PHC' ,

"FVIPH' ]

is missing

10

20

30

40

50

60

70




Plot [['FVOPH:r—o',

"PHO:g—o’ ]]

7.0

6.9 -

6.8 -

6.7

6.6 -

6.5 -

l Warning: col

TO.—Q

N

['FVOPH' ] is missing l M
Y )

0

10

20

30

40

50

60




Trend plot forP3-9 0
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P3-9

BfiE) | EBATK (R | EHME (EARA/HK) | ERERE (B/R) | XK SRR
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P3-9
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07:50 283 150. 0 2.888 |Z=| 1BRi&e07:50 Bzl (RAERE)
09:00 283 150.0 2.888 |Z=| {Ri&@09:00 Bz (KREAERSE)
10:35 283 150.0 2. 888 FA| 1B2i%@10:35 B3h (kA{EREE)
12:50 283 150. 0 2. 888 FA| 1BRi%@12:50 B3h (RAB{ERSE)
13:45 283 150.0 2.888 FH| 1BRi&@13:45 Bzh (GRAEREE)
14:40 283 150.0 2.888 FA| {Ri%@14:40 Bz CGRAERE)
15:50 283 150.0 2. 888 FA| 1B2i%@15:50 B3h (RkAERSE)
21t 2547.0 (9%) 1350.0 3IHKEC: 2200, PH: 5.8

FEREHERE STEELRTF (184.0 :

2RI\ EPRERE150. 0 ml.
RBEVE WS KHBPH 5. 77, BTHERNAZIFEIEEPH, 5F3hiA%
#[EKECE (1760.0 vs 3963.0) T 5
FRBIFE NS R IFEREC 2200. 0

150.0), FAIEEHT—@E XAH5




— 50
= 45 -

w40

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=72 (2025-06-13)

150 +

100 A

50

¢

35 ——,’“‘_r—n- ——— -

1200 1200

. . 1656
VI,V9¢£BV,ET VI, V0, FVI, EVO, FRV, ad jFRV, ET

90
793

80 80 - 500

Warning: lcol [FVI',| "FVO’'] missing

1.0

0.8 A

Warning: lcol ["WC1',  "WC2'] missing

optEC0=3000. 0, setECB=2200

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing
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200

100 A
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Bylnit
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400 -

B | BH [ BH [ BA [ BA [ BA | BA | BA | BA |/hda |/ | /vl | hvls [l [l [l [l [ AN | ANE VR | B R | BB | S5

300

200

100 A

ByEt @72 19:24: ET=995 Fg=1350.0 Ro=nan ! - 1500

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 20 21 22 23

400 -

19
BH | B [ BH [ BA [ BA [ A 2= |Z=|Z=| %= | B | B | FH | BH [ BA [ BA [ A [IE|Z=|Z=| KB | B | B |$=

300

200

100 A

1.0 A

0.8

BH | B [ BH [ BA [ BA [ A 2= |Z=|Z=| %= | B | B | FH | BH [ BA [ BA [ A [IE|Z=|Z=| KB | B | B |$=

0.6

0.4+

0.2~

0.0

1000

—_— 4
[ ] | _obs
PPFD_obs

90

80 -

70 -

60

—— RH
[} RH_obs rning: col ['RHo_obs’] is missing

D75 02:02: ET=1171 Fg=1350.0 Ro=258. 0 2000
- 1500

- 1000

- 500

- 1000

- 500

D75 02:02: ET=990 Fg=1350.0 Ro=228.0 - 1500

- 1000

- 500

d-1

FRV (

FRV (ml plant-1)

cumET (ml/plant)

2000

cumET (ml/plant)

2000

cumET (ml/plant)



m=410, FV0=0 m=460, FV0=0 m=545, FV0=0

1.0
52 - 51.00 7 —o— WME | 51.5- —o— ME
0.8+
| 51.0 -
51 50. 95
0.6 1 50. 5 A
50 50. 90 -
0.4- 50.0 A
50. 85 A 49. 5 A
49 0.2
Warning: col ['M_E'] missing 49.0 -
50. 80 - @
T T T O 0 T T T T T T T T T T T T
600 800 1000 0.0 0.2 0.4 0.6 0.8 1.0 472.0 472.5 473.0 473.5 474.0 545 550 555
m=630,m FV0=0 m=780, FVO0=0 m=825,m FV0=0 m=875,m FV0=0
51.5 1
51 5 —— ME —— ME —o— ME | 51.5{ —e— ME
' 51.0 - 51.5 4
51.0 - 51.01
50. 5 A 51.0 4
50 5 - 50. 5 A
50. 0 A
50. 5 +
50. 0 50. 0 1
49.5 - 50.0
49.5 : 49.5 A
49.0 +
49.0 - 49.5 1 49.01
48. 5
48. 5 +
48.5 T T T T T T 49.0 - T T T T T T
630 635 640 780 785 790 825 830 835 875 880 885
m=915,m FV0=0 m=1075m FVO=0 m m=410,m FV0=0
1.0
52.0 - —o— mE | 4007 —o— ME
0.8 1
51.5 48. 95
51.0 0.6 -
48. 90 -
50. 5 - 0.4 4
48. 85 -
50. 0 A 0.2 -
Warning: col "MW ] missing
49. 5 48. 80 - 0.0
915 920 925 1075 1080 1085 600 800 1000 . 0.0 0.2 0.4 0.6 0.8 1.
m=460,m FV0=0 m=545,m FV0=0 m=630,m FV0=0 m=780, FVO0=0
39.0 - 39.0 A
39.0 +
38. 48 -
38.5 A 38.5 38.51
38. 46 38.0 4
38. 0 A 38. 0
37.5 37.5 1
38. 42 - 37.0 A
37 0 - 37.0 A
38. 40 A @ 36. 5
472.0 472.5 473.0 473.5 474.0 545 550 555 630 635 640 780 785 790

m m m m



m=825, FV0=0
39. 5 - MW
39.0 A
38.5
38.0
37.5 A
T T T
825 830 835

m=875, FV0=0

39.5 4

39.0 A

38.5 A

38.0 A

37.5 A

37.0 A

—0O—

M_w

875

T
880

T
885

m=915, FV0=0
40.0 - MW
39.5 A
39.0
38. 5
38.0
T T T
915 920 925

m=1075, FVO=0

36. 90 A —— MW
36. 85 A
36. 80 -
36. 75 A
36. 70 -
1 0I75 1 0I80 1 0I85
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100
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105 -
80
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145
- 60

:35
- 40
:35

:20
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:05
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1 1 1 1 1 1
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SEEC S R
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P3-9

BFE) | GEBATK () | s (ERH/#F) | EREE (B/R) | X5 R

05:45 283 150. 0 2.888 FE| 1Ri%@05:45 Bz (REAERESE)
06:45 283 150.0 2.888 FE| 1RRi%@06:45 B (AR
08:10 283 150. 0 2. 888 BA| {Ri%@08:10 Bz (RAMEEE)
12:35 283 150.0 2.888 K| {Ri&@12:35 Bz (FRAERSE)
13:35 283 150. 0 2. 888 FE| 1Ri%e13:35 Bz (REAERSE)
14:20 283 150.0 2. 888 FA| 1B2i%@14:20 B3h (kBERE)
15:05 283 150.0 2.888 (Z=| {Ri%@15:05 Bz (FRAEHSE)
16:05 283 150. 0 2.888 |Z=| {Ri%e16:05 Bz (REEZEHE)
2it]2264.0 (8%) 1200. 0 3HKEC: 2200, PH: 5.8

FEREHERE STEELRTF (184.0 :

2RI\ EPRERE150. 0 ml.
RBEVE WS KHBPH 5. 77, BTHERNAZIFEIEEPH, 5F3hiA%
#[EKECE (1803.0 vs 4197.0) 5
FRBIFE NS R IFEREC 2200. 0

150.0), FAIEEHT—@E XAH5




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1000 4

P3-9_0, Day=71 (2025-06-12)

150

100 A

50

V1, V' 38RY, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

2000 061

80
Warning: lcol [FVI',| "FVO’'] missing 80

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2914. 0, setECB=2200

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing

Bylnit

D75 02:02: ET=2121 Fg=2550.0 Ro=531.0

ey

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

ZE|ZE(Z=| W [ B | W [ B | ZR[(ZR|EE|(ZR|EE|(Z2R|EE |2 | 55|23 |25 (25|55 A | H [ B

100 -
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400 4

ByEt @D71 19:33: ET=1220 Fg=1200. 0 Ro=nan

— —_ —_
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300 -
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2|2z BB | BB [ BB | FA | B | BB | B [Z|[Z|XWM| B | BB [%
ByWoFv

0.8

0.6

0.4+

0.2~

55| %=z BB | BB | BB | BB | BH | BH | B [BE(ER[KMm| B | BB |Z=|Z=|%=| B | B | B [ X[ [ KXW

750 -

500 -

250 -

—_— 4
[ ] | _obs
—@— PPFD obs

—— RH
801+ @ RH_obs
RHo_obs
60
40 -
2.5 4 ®

e vpp P

- 2000

T
—_
o
o
o

- 3000
- 2000

- 1000

| 3000
I
I
! - 2000
I

- 1000

3000
- 2000

- 1000

- 3000

FRV (ml d-1)

FRV (ml plant-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=400, FV0=0 m=435, FV0=0 m=470, FV0=0

52 4 —o— ME 51.01 —o— ME | —o— ME
16 51. 50
50. 5
50 4 51. 25
47 50. 0
51. 00
48 49.5
46 50. 75
49.0
46 45 50. 50
= 48.5 1 50. 25 -
44 —o— M i
T T T T 44 T T T 48 0 - T T T T T T
400 600 800 1000 400 405 410 435 440 445 470 475 480
m=595,m FV0=0 m=850,m FV0=0 m=880,m FV0=0 m=925,m FV0=0
51.5 & ME | 5104 @ ME 52.0 1 —o— ME —o— ME
52.0 -
50. 5 -
51.0 4 51.5 7 1
50. 0 - 51.51
50. 5 - 51.0 -
49.5 51.0 -
50.0 49.0 50. 5 1
50. 5 -
49.5 4851 50.0
T T T 48 0 - T T T T T T T T 50 0 L T T T
595 600 605 850 852 854 856 858 880 885 890 926 928 930
m=985,m FV0=0 m m=400,m FV0=0 m=435,m FV0=0
52.0 - - ME 40 36,04 —@— MW —o— MW
38. 5 -
35.5 3.0
51.5 - 28 .
35.0
5104 37.5 -
| 34.5
36 37.0 -
50. 5 - 34.0
2 - 36. 5 -
50. 0 - v | 335
¢ - 36. 0 -
985 990 995 400 600 800 1000 400 405 410 435 440 445
m=470,m FV0=0 m=595,m FV0=0 m=850,m FV0=0 m=880,m FV0=0
—— MW 40.0 1 —o— MW —o— MW —— MW
39. 75 39.0 40.0 -
39.5 -
39. 50 38.5
39.5 -
39. 25 - 39.0 1 38.0 -
39.00 38.5 - 37.5 39.0 1
38. 75 28,0 . 37.0 1 38.5 -
38. 50 36.5
470 475 480 595 600 605 850 852 854 856 858 880 885 890

m m m m



m=925, FV0=0
—— MW
40.0
39.5
39.0
38.5
T T T
926 928 930

m=985, FV0=0

40.5 A —— MW
40.0 A
39.5 A
39.0 A
1 1 1
985 990 995




